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molecular weight
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weight of sample

—— = number of moles :
molecular weight
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number of moles in the target volume = Molarity. Volume
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weightof sample _  weight of sample

: — = : = number of equivalents in the target volumen.v=m.n.v=
equivalent weight = molecular weight /n
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molecular weight
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number of functional reacting factor in the target reaction (n) d &
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weight of sample weight of sample _ _
= in 1000 mL or 1 lit of solution = N

equivalent weight ~ molecular weight /n
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Eq.wt (HCI) = =% = 222

n 1

N = purity percent (%) x 10 x d

E.q. wt
M = purity percent (%) x 10 x d

= 36.5

- 37x10x1.19- 12.06 N
36.5

- 37x10x1.19-12.06 M

m.wit

36.5

(s 2a ) A aslh 51,8 g/mL 4ty b s lad (HaS04) el sl s doal J sl a8 j¥ 50 g ailla yiasilas o

Eqwt="2 =2 =49
n 2

N - purity percent (%) x 10 x d

98x10x1.8-36N

E.q. wt
M = purity percent (%) x 10 x d

49
98 x 10 x1.8-18 M

m.wt

98
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Nze X Vie = Nas, x Vas, Mz x Vie = Mas, x Vas,
36 x Vur =2 x 500 18 x Vue= 1 x500
Vee= 111.12 mL Vee= 111.12 mL
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M = purity percent (%) x 10 xd = 37 x10x1.19-12.06 M

m.wt 36.5
N x Ve = Nas, x Vs, Mz x Viee = Mas, x Vas,
12.06 x Vze =1 x 500 12.06 x Vie =1 x 500
Ve =41.46 mL Vee =41.46 mL
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weight (gram) of solute in 100 mL solution: HCI 37% : 37 g HCl in 100 g solution;
density of solution= gram of solute in 1 mL solution;
hence:
there is d (density) gram of solute in 1 mL solution;
when the sample is not 100% pure:

there is d (density) gram of solute . percent in 1 mL solution;

grams of solute(HCI) in 1000 mL solution = 1000 . d (density) gram . percent/100
=10 . d (density) gram . present percent
moles of solute(HCI) in 1000 mL solution
= (10 . d(density)gram of solute(HCI) . percent)/molecular weight

=Molarity = M

10. density. present percent(w/w) in 1000 mL of solution

molecular weight
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10. density. present percent (%) in 1000 mL of solution

- - =N
equivalent weight

_ 10.density. purity percent (w/w) in 1000 mL of solution
h molecular weight/ n

AU ) Jeala oala 5 (2815 0ala (n (Jali) 4lald @ absolute error :Glas e o
AL e lhae slad (X)) lal Clsn b (Xeest) 058 s alald 1 gd e 4l ) Gl 41 Jsene 48 o8ila ) 2 dnds a0

Absolute Error = Xj -Xest
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Relative Error = 2%
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xXi —xtest

Relative Error percent = — X 100



